
Name: ___________________________________________Pd: ______ 

CLASSIFICATION REVIEW & ASEXUAL REPRODUCTION SCIENCE STARTERS 
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*ALL UNIT SCIENCE STARTERS MUST BE TURNED IN BY THE UNIT TEST TO RECEIVE CREDIT* 

Score: Question: Answer: 

Monday 

 

 

2/2 

 

Tuesday 

 

 

/2 

The jaguar has the scientific name Onca jaguar. What 

taxonomic levels do the scientific name include? 

 

A. Kingdom and phylum 

B. Domain and kingdom 

C. Genus and species 

D. Family and Genus 

Wednesday 

 

 

/2 

 

What best describes the offspring after asexual 

reproduction? 

 

A. The offspring has half the chromosomes as the 

parent 

B. The offspring is genetically mutated and dividing 

uncontrollably 

C. The offspring is genetically identical to its parent 

D. The offspring is not like the parent in any way 

genetically 
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What is the process of cell division that forms two identical 

new nuclei, each with the same number of chromosomes? 

A. Meiosis 

B. Fission 

C. Fusion 

D. Mitosis 
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/2 

 

 

Why would a cell go through mitosis? 

A. Growth 

B. Repair 

C. Reproduction (if it is unicellular) 

D. All of the above 
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